aNo
. Aulo e Auto Bady Lart
Assembly

——

Tube-Cross
Rod Threaded
Caster-6" Swivel \
Corner Weld-Right \\

3 (SEE SHEET 2)

Pad Rest
Corner Weld-Left AN
Flat Washer 3/8 \

y (D)
Lock Washer 3/8 S~

¢ O
HHCS 3/8-16x3/4 =

HHCS 3/8-16X1 Gr5 e e SHEET:1 OF 2

1in Hex Nut

3
8

-

NN P~ WN -

—_
—_ O

DO NOT OVER-TIGHTEN BOLTS! DOING SO WILL RESTRICT CASTER MOVEMENT!

STOP
1. TAKE CAUTION ROLLING ON ROUGH SURFACES AND EXPANSION JOINTS. TIPPING
MAY OCCUR! LOCK AXLES WHENEVER POSSIBLE
2. IF FOR ANY REASON PARTS ARE MISSING DUE TO SHIPPING PLEASE CALL:
1-800-568-7423 EXT 188




aNo
. Aulo e Auto Bady Lart
Assembly

Tube-Cross

Rod Threaded
Caster-6" Swivel
Corner Weld-Right
Pad Rest

Corner Weld-Left
Flat Washer 3/8
Lock Washer 3/8
HHCS 3/8-16x3/4
HHCS 3/8-16x1 Gr5
Tin Hex Nut

DETAIL B
SHEET:2 OF 2

oOoONOCCURRWN=—

‘
s 4
DO NOT OVER-TIGHTEN BOLTS! DOING SOWILL RESTRICT CASTER MOVEMENT!

STOP
1. TAKE CAUTION ROLLING ON ROUGH SURFACES AND EXPANSION JOINTS. TIPPING
MAY OCCUR! LOCK AXLES WHENEVER POSSIBLE
2. IF FOR ANY REASON PARTS ARE MISSING DUE TO SHIPPING PLEASE CALL:
1-800-568-7423 EXT 188

—_
—_ O




